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1. If y=f (xl, xz) is a homogeneous function of

degree one, then
Oy

d

(A) xlayl +x, =2 o -0
Oy Oy _

(B) xl axl +x2 axz =y

© xlaylw% !

(D) sdx, + 8y “dx, =y
X1 2

2. At a Pareto-optimal allocation for a society,
which of the following is true?

(A) Social surplus is maximized.

(B) Itisnotpossible to simultaneously improve
the welfare of all persons in society.

(C) Firms are maximizing their profits.
(D) There are no externalities.

3. To regulate a natural monopolist with cost
function C(Q) =a + BQ, the government has to
subsidize the monopolist under

(A) Average cost pricing
(B) Marginal cost pricing
(C) Non-linear pricing
(D) All of the above

4. Second order condition for profit maximisation
of 3rd degree price discriminating monopoly is

(A) MR, =MR, =MC
(B) Slope of MR, < Slope of MC
Slope of MR, < Slope of MC
(C) Slope of MR, = Slope of MR,
= Slope of MC
(D) Slope of MR, > Slope of MC
Slope of MR, > Slope of MC

L AW y=f(x), x, ) G0 GFNGI AR SCATFS
2%, O«

y . Oy
(A) x161+x2 P, =0
dy 9
(B) 3 g+ ==y
ay Oy
=1
(@) x1 +x2 o,
(D) —> dx1 + aay dx, =y
1 2%)

2. G35 IS Pareto W T@aed (allocation)
e e @ A

(A) ST g wHifs 23|
(B) TS T NRT Ferlel GF OFe 3l

o8] 7T 1 |
(C) T S STl A4 36 |
(D) @ AT (=53 |

3. TAEETF C(Q) = o + B O, TH GG TR
G PRI e S Ty FIBIAE OB (< oo
27 [WCH7 (%0

(A) 1% I &7 e

(B) 2ifess a3 3o faefize
(C) S- TR o7 izl
(D) Toltza AR

4. TOR G AN 7L< G0 SRR il
e faor M %16 =4

(A) MR, = MR, = MC
(B) MR ,-&3 Bls1 < MC-43 Glel
MR,~4% b1 < MC-&3 Bl
(C) MR -4 GlsT = MR,~49 Glel
= MC-47 bie
(D) MR ~49 51 > MC-43 Bl
MR,~4% 51 > MC-&3 Bl
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5. The producer will substitute capital for labour
till he reaches that point on the isoquant at which,

(A) the price of the goods he produces equals
wage rate.

(B) marginal rate of technical substitution
equals interest rate.

(C) marginal rate of technical substitution
equals marginal revenue.

(D) marginal rate of technical substitution
equals ratio of marginal productivity of
labour and capital.

Pick the incorrect alternative.
6. In the traditional theory of the firm

(A) no separation is made between ownership
and management.

(B) the owner pursues the goal of profit
maximisation.

(C) the entrepreneur is assumed to have full
information.

(D) the entrepreneur acts with limited
rationality.

7. In case of 2-person zero sum game
(i) there is always equilibrium in pure strategy.

(i1) the number of strategies may be different for
the players.

(iii) all the cell values may be negative.
(iv) the players need not behave in a rational way.

(A) (i) and (ii) are true

(B) (i1) and (iii) are true
(C) (i1) and (iv) are true
(D) (1), (i1) and (iii) are true

8. The practice of charging each consumer the
reservation price is called

(A) third degree price discrimination.
(B) peak load pricing.

(C) second degree price discrimination.
(D) first degree price discrimination.

5. TRV ¥ JE (capital) T afegisi Faca
TomFe I (T AWM @A @2 T9ee ohgw @2

(A) TeAATS BR1F 6T R 2R ol 27 |
(B) #ifesFfFaifa siffadeoraaa (MRTS) A=

RIGERDIERE
() 2T Rdoaa(MRTS) 2ifes
IR AN 27 |

(D) 2ifesF e e g9 (MRTS) ®%
QI IETHCR 2 S CRAMCT S AT A
Bl

eoT G e F |
6. T fexAR ored Fa
(A) e ifEia @3k SAfREEEE CFg @I
A< 1 = Al |
(B) o1 S[evept A aem el o7 SRpiael (4 |
(C) ToreIa ARG )¢l 2y SMite STeel 21 27 |
(D) T AiNe Rvwre F@ 9% 3@ |

7. @6 73 ARG *+) @197 SO G
() frem @FIE Wiz SREN A |
(i) ST CFa @HEa WAl [(ifeas 2o
Al |
(iil) e cell (AFD)-GF T NS Z0O A |
(iv) REERIeHE AWz [RewIeiE Sivge F9
AN (13 |
(A) (i) 9=k (i) AP=
(B) (i) €=¥ (iii) AT
(©) (i) 9% (iv) 7w
(D) (1), (i) €3 (iii) S

8. AT (CISI(F Ol reservation 3e7f charge FI<
HAN(E & =Y
(A) OO TG W 2Pl |
(B) fo<etie e i@t (Peak load pricing) |
(C) TSl SNa v 72 FiF2e |
(D) &S QT 7N 22520 |




9. Product exhaustion theorem is based on
(A) marginal productivity theory of distribution.
(B) marginal productivity theory of distribution
and constant returns to scale production
function.

(C) average productivity theory of distribution
and constant returns to scale production
function.

(D) constant returns to scale production
function.

10. Suppose utility function is

U=20X+50Y

Budget line 10000 = 50X + 20Y

In this case at equilibrium

(A) Entire budget will be spent on X

(B) Entire budget will be spent on Y

(C) The budget will be divided equally
between X and Y

(D) There will be multiple equilibrium

11. Net social benefit is

(A) Consumers’ willingness to pay (WTP) +
firms’ profit

(B) Consumers’ surplus — the cost of
production

(C) Consumers’ willingness to pay (WTP) +
producers’ willingness to accept (WTA)

(D) Consumers’ willingness to pay (WTP) —
the cost of production

12. Choose the correct statement from below:

(A) Pareto optimality takes care of value
judgement and interpersonal comparison
of utility.

(B) Anallocation is Pareto superior to another
if at least one individual is better off and
none worse off.

(C) Pareto optimality is not concerned with
economic efficiency.

(D) Pareto optimality is concerned with
distributional consequences.

07-11
9. 7y ferea wg-9F fofe 25

(A) IET 2T TeoAmeReTold ©g |

(B) 3G(T4 &Ife TesfmaeTold ©F G 475
AHIET TS Tesiue S |

(C) IBET 5TG TeATTHGTOR ©F AR EIF
ARSI NG TV S5 |

(D) &35 2fSWITTT NAITE SAW SIS |

10. = T Tolifare! Sorwdt 25
U = 20X + 50Y
TS0 (@4 10000 = 50X + 207
@3 (g SN
(A) Il ACEE X-97 ©9F T 2@
(B) Al ACEG V-4 TAF W =
(C) TG X €R Y-a3 T AMSIF AT® 31
(D) 32 SIRAGHT ©B =&

11. <15 e Fepiel 2o
(A) (S pay T4 252 (WTP) + FIIS o111
(B) (SItoiMIe — Teolwe 53
(C) (SI& pay I 25 (WTP) + SAWME
ozel FAIK 2ozl (WTA)
(D) (SI& pay I 252! (WTP) — Seoiive 53

12. FF (A 70 IE0H 2w < ¢

(A) Pareto FNrel o7 {6 @R SolIfore
ST TS TSl (7 |

(B) @ el (allocation) S=I{b (S Pareto
e T Swe: AFee AfE SAF (AT
I SRR AE @32 (F2 A 71 27 |

(C) Pareto IS S FFoIg 707G 77 |

(D) Pareto ISl IeTGT (S FARFE A AIE |
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13. Pick out the correct answer:

The sum of income elasticity of demand, own
price elasticity of demand and cross price elasticity of
demand is

(A 1

(B) Indeterminate
(C) Zero

(D) -1

14. Nominal price stickiness can arise in a number
of ways. This can be sticky on account of
(A) menu costs leading to firms having little
incentive to change their price when
conditions change along with wages being
sticky in nominal terms.
(B) firms costs declining even through wages
are stricky in nominal terms.
(C) increase in marginal costs of firms with
wages remaining sticky in nominal terms.

(D) workers bargaining for higher wages.

15. In the short run, an increase in money supply
leads to an increase in price level along the AS curve.
The initial equilibrium of the economy is at full-
employment. The rise in price level is on account of

(A) output decline followed by increase in
wages, which is passed on to price level.

(B) output increase causing an increase in
wages which is passed on to price level.

(C) output remaining same, but with an
increase in wages, which is passed on
into price level.

(D) output and wages remaining same, but
expectations leading to an increase in price
level.

16. In the classical case, a fiscal expansion leads to
(A) an increase in output
(B) adecrease in output
(C) an increase in price level
(D) adecrease in price level

13. i Tealb Hizre Fea:

piftnis wweote Bfegieel, viftme Fe wiw
Riogi7rel @ BifvE 2IF=Rs v BiogvroR
CT91FeT 2eT

A) 1

(B) wifeidigercatoly

(C) *=0

(D) -1

14. WX SO LR STC AR % Tl 251

(A) menu costs-43 FE TR SR 7N
ARG T WA I TAZ A 1,
T W AR TG Gk S foT AAfse
71

(B) IHIT RIS e 2T SIG AFES, FIGE
[ FCS QI |

(C) THIT SRS TG 2 S AFES, TR
ifes 5 Jha #A17 |

(D) *fCF1 T TGRE T TERAIFR A |

15. FHIIE, A @9 I (AT AS @UR o
VISRES i A | ST AL SIS 2Jof ORI 27 |
WIS s e 28

(A) AV TR 217 TG iz T (A M
I |

(B) TeoAma Jfarst #f= g i i1 (A Alse
I |

(C) Teoime 23 Aweense, wgfiva Ifa a9 (A=
WIS i |

(D) BeoAme @3 g 737 RS, dopiiE HCe
e I |

16. IO (3F0a, RERRIE TREARER T
(A) TeoAve I 200 AT
(B) Teoiive 31 2@ A
(C) wiIwa I 20© A
(D) WL AT =09 A



17. In the analysis of unemployment in the labour
demand-supply framework, at the actual level of
employment below the equilibrium level of employment

(A) the marginal product of work is lower than
the foregone cost of other activities for
workers.

(B) the money wage rate as well as the real
wage rate remains fixed.

(C) the expected price level is equal to the
price level at that equilibrium.

(D) the marginal product of work is greater
than the foregone cost of other activities
for workers.

18. Anadverse labour supply shock during pandemic
is likely to have led to
(A) a leftward movement in the long-run
aggregate supply (LRAS) curve withrising
levels of full-employment output and
falling price level.

(B) arightward movement in the LRAS curve
withrising levels of full employment output
and rising price levels.

(C) aleftward movement in the LRAS curve
with fall in level of full employment output
and rising price level.

(D) arightward movementin the LRAS curve
with fall in full emploment level of output
and fall in price level.

19. In Baumol’s theory of transaction demand for
money, money demand is

(A) an increasing function of bond supply,
brokerage fee and rate of interest.

(B) adecreasing function of nominal GDP and
rate of interest, but an increasing function
of brokerage fee.

(C) a decreasing function of rate of interest,
and an increasing function of nominal
GDP and brokerage fee.

(D) adecreasing function of bond supply and
rate of interest, but an increasing function
of brokerage fee.

07-11
17. =¥ vifzwl @i ISR [ @R [,
TR A4F© B FORZIET SIS V&I A
(A) IR 2EF T AR S IS
SIS AR (A 9 |
(B) wifdfe sgfd 2 @R 2Fe g 29 &3
QI |
(C) TS RISER SITAIGY NS T |
(D) IGE 2T T W Sy Fe
! LW (AT @ |

18. SN beAlFEte G 2fogel w3 TR =F
e

(A) TS @6 @l @4 (LRAS) il
FRBIR SR TAT € ZIA HIIBE
A AW AR AR |

(B) LRAS (F4l 7l¢f F5I0Ta B Teofwe
@ BRI VIR A0 TIMCE 7CF A |

(C) LRAS @ 2J¢f SRR ZPTsiie Seoiive
@R TR WNSET A A AE A

(D) LRAS @ 7ol FICTA g Seoiive €
FPTI AINEET ACK CIHUCE A T |

19. Baumol-93 (e (FMGId Gel SIedfd SifEal
(transaction demand for money) ©F W@, RIRE|
RIGEY

(A) 0TI @M1, wEe f2F @32 R 2IEF @i
THIA S

(B) 1T #f¥® GDP @3k Jd Q@ w2
g wenfera -3 TR ST |

(C) M RNER R o @32 7Y 2if*S
GDP @ wielfat {53 TR S |

(D) ACTA @M 8 AWM 2R FTHIAAN A5,
&g wfet fe-q SHIA SIAFF |
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20. Conditional convergence in growth theory
implies that the initial level of per capita income is

(A) positively related to the growth rate of
income per capita after controlling for the
variables, savings rate and population
growth rates, that determine the steady
state.

(B) negatively related to the growth rate of per

capita income after controlling for the

variables, savings rate and population
growth rates, that determine the steady
state.

(C) negatively related to investment rate and

labour growth rate, but positively related

to growth in per capita income.

(D) positively related to the savings —

investment gap and the unemployment

rate.

21. In the New Keynesian approach, when money
supply is found to increase in an unanticipated fashion,
there can be areal expansion in the economy at least for
a while. This transitory effect of a money supply
change happens on account of

(A) contracts predetermining wages

(B) wages are flexible and can fluctuate
(C) wages are decreasing

(D) wages are downward sticky

22. Money multiplier (K) is the ratio of the stock of
money to the stock of high-powered money, which is

given by
=M
K="=

Where M is the money stock which depends on
currency-depositratio, cu and H is the stock
of high powered money which depends on
reserve-deposit ratio, re and cu.

1+cu
re+cu

The money multiplier is larger, when
(A) both re and cu are larger.

(B) both re and cu are equal to unity.
(C) re and cu remain unchanged.
(D) both re and cu are smaller.

X-8

20. Conditional Convergence of Growth &% (JIQIX
@ Afoig SRR 22 B
(A) AR R G3R GP1RAT] Iard B9, (RS (AT
steady state Reifre =, el IEEEIRIGH
oy SN Iad 2@ A ARSI
TS |
(B) AR TR QI Gy s 29, QST (A0
steady state fdifae 27, e i Fa e,
liforg SN s QI 0ot AeleFeicd
TfFS |
(C) ffaie 27 ¢ WNgiag 2@ 70 AT
g weifg wiwE e A el
TAfFS |
(D) FA-RIACIS 34 93 (@R & AT
{IFSIE TAFS |

21. New Keynesian ©§ SIS, I3+ SLF (@l
T2 SIRTeIE I o117, 2w, TS, TTFe: THIIE
o) TRPTEd 90 | O @6 ARREER @B ke
A9 PG

(A) e Sgf rifFo iz e
(B) SEfa w7 @R AfGaSeie
(C) gf gPTTle

(D) TG Tpa T 2 owe

22. @I @9 (K) 281 S oo ¢ Trhawe! T
T e SIS, TF @14 77 FwleiResiE

_M 1+cu
AI re+cu

@A, M T S TGS A qG-T S, cu-F
Tolg 9 I W3R H 251 Twrarel g
w3 Sege I &S SIS ratio re @3%
cu-3 o7 7 37 |

QI QISP 08l 2, I

(A) re @R cu E%?WI
(B) re €3 cu WHE A A |
(C) re @R cu TeifafSe A
(D) re €3R cu Tb2 (RIG! |




23. The dynamic aggregate demand shows the
relationship between the rate of inflation and the change
in aggregate demand. This is represented by

Y=Y +¢(m-n)+of

Where m is the growth rate of the nominal

money stock, 7 is the rate of inflation
and of demotes the impact of fiscal
expansion on demand, Y.

Therefore, (m — m) > O implies increase in real
balance. For aggregate demand to
increase, other things remaining same,

(A) $>0
(B) ¢<0
© ¢=0

(D) ¢ is indeterminate

24. When LM curve is vertical, which one of the
following is correct? An increase in money supply will
lead to:

(A) Fall in interest rate

(B) Fall in the level of income

(C) Rise in the rate of interest

(D) No change in the level of income

25. Ifthe demand for money is interest-inelastic and
perfectly stable, then by hitting the money supply
target, the central bank

(A) fixesthe vertical LM schedule and income
at that level.

(B) fixes the interest rate and makes income
flexible.

(C) makes the LM schedule to depend on
varying income.

(D) makes the LM schedule to slope
downwards.

26. The statement “Inflation is everywhere and
always a monetary phenomenon” is attributed to

(A) J.M. Keynes

(B) Milton Friedman
(C) Irving Fisher
(D) A.C.Pigou

X-9 07-11

23. SeTIIN (NG Bifewl 261 Jursifed 219 € (G bifena
e TS | Fwfeiieeir ot g s =
Y=Y, +¢(m—7t)+csf

@I m TE Y@ aFifRe wefa g, 1 g
JUFFIfed B of = biftl ¥-97 Toiw
TRFTFIE TRARCR 2deld |
e, (m —m) > 0 2 &Fe SAF @l | G5
it i (oIt =&, Sy 319 773 A,
(A) >0
(B) $<0
©) ¢=0

(D) (I)Wﬁ% (indeterminate)

24. T4 LM curve &FF T, O« fFfiie @b
103 2 =rfq cato i 20t ¢
(A) 79 7 B AT
(B) IR M 2@
(C) = 27 I M
(D) SRR @I 7Afass 2@ =1

25. e bifew A Jr-eifEfegivs @3 7ol fgfeiie
23], O S (S9N o7 7)f B0 (LR [E
(A) TEF LM @4l 9% (T2 B I 33 33 |
(B) JMF 7T 23 (I G SACE N7 FC |

(C) LM @IS Afsaia onia Sofg Feq
IAAN

(D) LM @47 0&E Hea 37 |

26. “TurRIfe Ada G AT G S e @B
eI O
(A) J.M. Keynes
(B) Milton Friedman
(C) Irving Fisher
(D) A.C.Pigou
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27. Among the three broad types of unemployment
listed below, choose the ones that impose heavy
economic costs on workers and society, from the codes
given below:

(a) Structural Unemployment
(b) Cyclical Unemployment

(c) Frictional Unemployment
Codes:

(A) (c) only
(B) (a) and (b) only
(©) (a) only
(D) (b) and (c) only

28. Choose the correct answer.
Suppose A is a 2 X 2 matrix, then if
(A) Determinant |A| # 0, the matrix is non
singular and there is no linear dependence.

(B) Determinant |A|# 0, the matrix is singular
and there is linear dependence.

(C) Determinant |A| # 0, the matrix is non-
singular and its rank < 2.

(D) Determinant |A| # 0, the matrix is non-
singular and there is linear dependence.

29. Employment opportunity (E) is increasing by
4% a year and population (P) is rising by 2-5% a year.
Rate of growth of per capita employment (%) is

(A) 6:5%
(B) 4%

©) 1'5%
(D) 1-6%

30. Which of the following is the test used for
detecting auto correction?

(A) Goldfeld-Quandt Test

(B) White’s Test

(C) Koeaker-Bassett Test

(D) The Breusch-Godfrey Test

X-10

27. T3 foai A0T 4Aa @RS SIferia Wy
(A @i Wi @R TR T o Wi e
A IR T [WIFT AT (A 212w 3 3

(a) FISENS @Y
(b) PFIFE (IFTY
(c) TGS [P
MO (Codes):

(A) B9 (c)

(B) B9 (a) 9% (b)

(C) Bga (a)

(D) ®gla (b) @R (c)

28. A< et ffze ww:

431 TAF A GF0 2 x 2 matrix, OEE W

(A) |A]#0=F, 939 matrix™ non singular 2d
R 1N linear dependence AT 1 |

(B) |A|# 02¥, 3 matrix( singular 23 9%
(1t linear dependence <R |

(©) |A| =07, 939 matrixf non singular 2
@GR rank < 2 ([ |

(D) |A|=0TF, 93 matrix> non singular 2@
@R (T4 linear dependence RS |

29, FORFIE 9! AT 4% 2103 I 2oz @R
G NI 2-5% BICA Jfn Ao | Mg TEI TR
(&) 2=

(A) 65%
(B) 4%

(C) 1-5%
(D) 1-6%

30. wa @9 AT auto correction e T4
Grelj S 2 ?
(A) Goldfeld-Quandt 7S
(B) White’s 2l
(C) Koeaker-Bassett A
(D) Breusch-Godfrey ASTI



31. Youare given the LM function as Y= 100 + 10i
and the IS function as Y = 160 — 20i. What will be the
equilibrium level of income and rate of interest?

(A) 120 and 2
(B) 150 and 2
(C) 90 and 3

(D) 120 and 3

32. Suppose that we wished to evaluate the factors
that affected the probability that an investor would
choose an equity fund rather than a bond fund or a cash
investment. Which class of model would be most
appropriate for the investor?

(A) A logit model

(B) A multinomial logit model
(C) A probit model

(D) An ordered logit model

33. Which of the following property, exists for the
region of feasible solution of a linear programming
problem, provided the feasible solution of the problem
exists?

(A) Quadratic
(B) Concavity
(C) Polyhedron
(D) Convexity

34. Consider D, = ap, + b
Sf Apt 1 + B

Choose the correct answer.

® If|| |1

the market is dynamically stable.

(ii) If ] ‘ ,the marketis dynamically unstable.

1 1
i) If 75=77,
(D 1|

" the market is dynamically stable.

(iv) If |a| <

, the market is dynamically stable.

(A) Both (i) and (ii) are true
(B) Both (i) and (iv) are true
(C) Only (iii) is true

(D) (i), (ii) and (iv) are true

X-11
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31. LM S[eofa (redl ez ¥ = 100 + 10i 9=k 1S
AT ST IR ¥ = 160 — 207 | SIFAR] B I G
A TR F 2@ ?
(A) 120 €3 2
(B) 150 €3¢ 2
(C) 90 €3 3
(D) 120 €323

32. 421 S SN GR NG SHAMTTICT JonIa
Ao (531 3 Tl (@I [T 2P Fie A T@TE
31 1 RGN siew 17 AR 2iole F0e AN |
I ifez sTwe RIS 210% TR T 23 2

(A) #fes S@s (logit model)

(B) IFGRRI &1t S(@et (multinomial logit
model)

(C) &G SC@a (probit model)

(D) Tﬂ'\éﬁ@ #fes W@e (ordered logit model)

33. fwffis @iw &1 (property ) 7 a1 (linear)
AR TP TR TN L@ &) TR,
@A AP TRy A9 SIFG N 2

(A) Quadratic
(B) Concavity
(C) Polyhedron
(D) Convexity

4. LIS D, =ap, + b
Sr Ap[ 1 + B
e Ceslo /b/@w Pl |

i) ﬂﬁ| <] A| o, O(@ G b FBfe®a

Bl
1.1

(i) = o "[] > O A DT
w%ﬁ%m|

(iii) zrfﬁ| | ‘A| o, O A Do Eomis
|

(iv) 3 || <|A| =7, SR AT T fRfeSia
Bl

(A) (i) 932 (i) Tz 7w
(B) (i) 9=k (iv) To2 A
(C) © (iii) 7+

(D) (), (i) 9% (iv) 7T
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35. If y = 1n 2x5, then

Choose the correct answer.

(A)

(B)

36. Which of the following is a valid objective
function in LPP?

(A) MaxZ = 6x3 + 42
B) MinZ="Tx+ 3y
(C) Max Z ="Tx + 3y?
(D) Max Z = 15x%3

37. If X; is a random variable with probability p;
(i=1,2...n), then
2X;

(A) E(X):Zp,-

(B) E(X)=Xp; X;
©) E(X)=Zp; E(X;)
(D) E(X)=XE(p; X;)

38. On any normal distribution, the 50th percentile
corresponds to a Z score of

(A) +2
B) -1
O +1
(D) 0

X-12

35. Iy = 1n 26° W, ©@@

36. T @0 @O LPP FWA valid objective

function ?
(A) Max Z = 6x3 + 4y?
B) MinZ ="7x + 3y
(C) Max Z =Tx + 3y?
(D) Max Z = 15x2%y3

37. IWMAERTS! (probability) p; T/ X; 416 F0TE7
561 (random variable), @™ (i = 1, 2... n), T O

35X
(A) E(X)= Sp.

B) E(X)=Xp; X,
(©) E(X)=Xp; E(X;)
(D) E(X)=XE(p; X;,)

38. b TufleT fRerse, 5097 %o (percentile) (9
Z (FIF-97 -4 0 AN ?
(A) +2
B) -1
<O +1
(D) 0
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39. Afrequency polygonis preferred to a histogram
when there are a

(A) small number of possible X values
(B) many values of Y for each value of X
(C) large number of possible X values
(D) few values of Y for each value of X

40. When u(x) is the utility function of x, measure
of absolute risk aversion is

(B) —%
(©) —%
(D) —%

41. The model that is most frequently applied in
empirical studies when the regressand is of the count

type is
(A) Ordered probit model
(B) Multinomial logit model
(C) The Poisson Regression model
(D) The linear probability model

42. In the case of logit model, the log of the odds
ratio is
(A) Linear in X and non-linear in Parameters.
(B) Linear in X and linear in Parameters.
(C) Non-linear in X and linear in Parameters.

(D) Non-linear in X and non-linear in
Parameters.

07-11
39. sifieikel 92ge (Frequency Polygon) REGIAN
(Histogram)-43 (5T AW T2
(A) TR X AT FL! @I
(B) TS0 X SR &y Ssfet ¥ A A
(C) Ay X N A q00!
(D) 2Cor(G X W0 &) TP Y A QS

40. T u(x), x-93 SIS TCAFF 27 O 5N
3 Rmororz sifawiol 25

11
A u (x)x
(A) a0
11
B _u (%)
(B) ul(x)x
© -4
W (x)
1
D) _“ (x)
(D) )

41. AT %G (empirical studies), T4 TS
(regressand) S=ICAIST T, O (T AL FAIGE &P
[T = i &

(A) Ordered probit model

(B) Multinomial logit model

(C) The Poisson Regression model
(D) The linear probability model

42. =0 (logit) model-93 (G odds ratio-43 log
gl
(A) X-93 I™F TRaAERE 9 ARFE
(Parameter)-4q TATE T CRE 77 |
(B) X-93 T™F TIAERT 9 AfF=
(Parameter)-43 FI(F ATAARIF |
(C) X-43F T™[(F RAERE 78 @R AE=
(Parameter)-43 (S FFECARS |
(D) X-93 FAF TAERT 97 9R A=
(Parameter)-4d TS AFEAART =74 |
[ Please Turn Over ]
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43. Which of the following estimation techniques
could be employed for the estimation of over-identified
systems of simultaneous equations?

(a) Ordinary Least Squares
(b) Two-stage Least Squares
(c) Indirect Least Squares

(d) Instrumental Variable Method
Codes:

(A) (b) only

(B) (b), (c) and (d) only
(C) (b) and (d) only
(D) (a), (b), (¢) and (d)

44. In the model
Yi=o+Bo X+ By Xy + Bo Xen + oo + B Xk + 143
the short run multiplier is given by
(A) Bo
(B) Bo+ B
(©) Bo+ Bi+ B2
(D) Bo+Bi+Pr+ ... + By

45. A Hausman test is employed to

(A) determine whether an equation belonging
to a simultaneous system is identified.

(B) determine whether 2SLS or ILS is
appropriate.

(C) determine whether a simultaneous
framework is needed for a particular
variable.

(D) determine whether the structural form
equation can be obtained through
substitution from the reduced form.

46. Which is the correct form of model to test the
stationarity of a time series through Dicky-Fuller test?

(A) yy=2A + 1y
B) yi=y + A,
© W= }\'t+l + L,

(D) Ayz = }“yz—l + 1,

X-14

43. A (P 2FTe (estimation ) (FT=IE ARG
SFRPTCE (simultaneous equations) over-identified
system AIFFAH Gy HCIS T (@CS A 2

(a) Ordinary Least Squares
(b) Two-stage Least Squares
(c) Indirect Least Squares
(d) Instrumental Variable Method
P9 (Codes):
(A) g1 (b)
(B) @@ (b), (c) @R (d)
(C) Ba (b) @R (d)
(D) (a), (b), (c) 4R (d)

4. Vi=a+BeX,+B X + B X + .. + B X+ u;
AT, FEEN Wl 28
(A) Bo
B) Bo+ B1
(©) Bo+ Bi+ B2
D) Bo+Pi+Po+ .. + P

45. 3 Hausman #125% fce <01 =3

(A) TriRalbe T FIESE @i AT
@it &1 ot fefizel w7 e |

(B) 2SLS W12l ILS 7 el ot fefiziel <19
Grelj |

(C) &=t e vesa ey AwecEoe
(Simultaneous) TN w17 Kol @ el
I G |

(D) Reduced form FNF2e¢ (AF Afogisi a1
structural form ANFFS e T el @
fqfzel 19 &y |

46. Dicky-Fuller #q13 ey Flela Miwa
stationarity #I91 FI9 & (@6 AfSF model ?

(A) y,= 9\‘!—1 + L,
B) yi=yr1 + Ay,
(C) Vi = kt+1 + 1,

(D) Ayt = 7“yt—l + W,
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47. For a regression model
Y=Bo+B X1 +BXo+... + B X + U
The degree of freedom of test statistic ¢+ with n
observations is

(A) n-k

B) n—-k+1
©C n-k-1
D) n+k+1

48. Marxian model, the rate of profit on capital is

(A) directly proportional torate of exploitation
and inversely proportional to organic
composition of capital.

(B) inversely proportional to rate of
exploitation and directly proportional to
organic composition of capital.

(C) inversely proportional to rate of
exploitation and organic composition of
capital.

(D) directly proportional to rate of exploitation
and organic composition of capital.

49. A major dependency theorist, Andre Gunder
Frank, maintains that the economic development of the
rich countries have contributed to the under development
of the poor. He highlighted some of the following
activities as drivers of under development:

(a) Replacing indigenous enterprises with
technologically more advanced, global,
subsidiary companies.

(b) Forming a skilled labour force to work in
factories and mines and on plantations.

(c) Workers migrating from villages to foreign-
dominated urban enterprises.

(d) Closing the economy to trade with and
investment from developed countriers.

Choose the correct answer from the codes given
below:

(A) (a), (b), (¢) and (d)
(B) (a) and (¢)

(C) (b), (c) and (d)
(D) (a) and (b)

07-11

47. @35 3 wws

Y=Bpg+B X;+ B, Xp +... + B Xy + UGS FFq
test statistic ¢ 93 FHATOF W@l (degree of freedom)
(A n observation FRI(R, ©f 267
(A) n—k
B) n-k+1
©C) n-k-1
D)n+k+1

48. WM ©F SRR, ST TAT LA 2

(A) IR 2IE A AgAITes @R 773 @
5AfS AT AN97NS S ATST ACH
AN |

(B) <R BICA 03 Iieiifies «3g 73 e
bAfS JEAEHET A0S SATST ACK
AN |

(C) (IRITeIR 29 3R F33 8 5T Jererd oiiste
AT A TV |

(D) R TA @R 77 @ BT Totea o1dwore
SIS A AT |

49. fTSTNeTel ©red UFE 2q&! Andre Gunder
Frank-a3 (s 4] (71 o o1l foss Caamg viaw (reiasferg
S G Wi | S vifee e fofd
At fem(ui)- bize s ¢

(a) o el efEresia @ e,
S o, TS Al gl afegion i |
(b) FFAMI, A IR Fl6N (plantation) wfeTEFE
FIAIF & i Wi (ofd 41 |
(c) &N (A Rm enfEsrey T *= AR
wfFma AR |
(d) TF® MOAF A Aoy @I SItna (A [facs
IR A0
ARG code &fa 21T 7T I G fray:
(A) (a), (b), (c) 9= (d)
(B) (a) @3k ()
(C) (b), (c) @R (d)
(D) (a) @R (b)

[ Please Turn Over ]
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50. The expansion of power loom sector results in
forward linkage effects due to

(A) increase in incomes of workers that
manufacture looms.

(B) lost employment in the hand-loom sector.

(C) increased output of woven cloth made by
the power looms.

(D) increased demand for electric motors.

51. Which of the following is not included in
Ravenstein’s law of migration?

(A) Natives of town are less migratory than
those from urban areas

(B) Females are more migratory than males
(C) Most migrants move for short distance
(D) Most migrants are adults

52. The O-ringtheory developed by Michael Kremer
places emphasis on

(A) Education of the labour force

(B) Skill mixing

(C) Purchase of machinery and equipment by
firms

(D) Skill complementarities

53. If the distribution of income in country E is
(1,2,2,3,5) and in country Fitis (2, 1,2, 3, 5) and the
poverty line in both of the countries is 2-5 by head count
measure, then which country has more poverty?

(A) E

B) F

(C) Poverty is the same in E and F

(D) Cannotbe said from the given information

X-16

50. Power loom 5 Jf& (2ICa1 SR LR 1%
27 A

(A) @R SR &N (O IE, I SRR
BIEY

(B) =Mt (hand-loom) F3AEIN 397 |

(C) power loom-4 Cofa IcEF Ifasiel {f%? I

(D) CAvyfes ACFF (motor) BIRWR q% |

51. [AFfIfR® @9 Ravenstein-93 Wizaxid ©red
IFOG I3 ?

(A) *eRixae APFIR [aieeTs ARwImE
OETIR F AT |

(B) SIfZeTRI 770 We=d S sAfamsieiia |

(C) IR IR 3 703 Gy ZI ARRS
A |

(D) SIfgmicst SIfEast alieaws |

52. WEEE @NF-G O-ring ©€ 10| A7 FCH
(A) ifes R Tog
(B) wFoIq flmel-qg o
(C) Tt TN GR ARG TR T
(D) wweR SAfR7TFoR o[

53. @* E-F 97364 (1, 2, 2, 3, 5) @R %1 F-49
SRRG (2, 1, 2, 3, 5) 2@, (@OIGT Al Awio
s ufb ool wifsws @2t 2-5 | GoweE @i oot wifw
ARSI (A 2

(A) E

B) F

(C) wifsws wf> @i =

(D) THfS& 92 (A & TEF 77
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54. Trade creation refers to a situation where with
trade barriers being

(A) removed between members of the regional
trading bloc, which enables various
products to be purchased at higher prices

thereby stimulating intra-regional trade.
(B) imposed between members of the regional
trading bloc, which enables various
products to be purchased at higher prices

thereby stimulating intra-regional trade.
(C) removed between members of the regional
trading bloc, which enables various
products to be purchased at lower prices

thereby stimulating intra-regional trade.
(D) imposed between members of the regional
trading bloc, which enables various
products to be purchased at lower prices

thereby stimulating intra-regional trade.

55. Exchange rate overshoots in the short run with
an increase in money supply when
(A) price is flexible and expected exchange
rate depreciates.
(B) price falls and expected exchange rate
appreciates.
(C) price increases and expected exchange
rate depreciates.
(D) price is fixed and expected exchange rate
depreciates.

56. In specific factors model of international trade,
with trade, while the mobile factor can either gain or
lose, the specific factor to export sectors in each country

(A) lose along with the factor specific to the
import-competing sector.

(B) gain along with the factor specific to the
import-competing sector.

(C) neither gainnor lose, but the factor specific
to the import-competing sector gain.

(D) gain, while the factor specific to the import-
competing sector lose.

57. In monetary approach to Balance of Payments,
devaluation of the currency will eventually lead to
balance of payments equilibrium under

(A) non-sterilization

(B) sterilization

(C) open market operations
(D) priority sector lending

07-11

54. 3fer-yem (12 o[l o @ @E ey
RIEIRICH

(A) ST ST FCF APTTR N D2

2674 (e, e w25 @ nie 0 541 18

2 G BN T S S (A |

(B) W=er ey FFa APTME S, it

2 G BN e S S (A |

(C) ST Fifeey < TTmE T S

2674 T, [Kfeq 71y I wit) @1 41 1€

2T IR BT feen Teig oTie 4 |

(D) Seer Aifiey 0 APTTE N0 Sl

2T IR ST feen Teig e 3 |

55. FEICE Y@ Q@911 i coice, K 2= sl
foes 3 I, W

(A) WS T =W @R Aenfe R g
S5 9 |

(B) WISl (1 =R erepifee e 2@ i i |
(C) 7Y AT Gk Awpifeie f&fess 2@a s=od

90 |
(D) wi 23 A @R depfFie Riw 2@
S5 405 |

56. S Alfdrena A Seimis e, Tz
T T HETI SIS 2 &1 w13 561 2, ATOTS (eI
7 Feaa ARG Sotmf

(A) wfodw =3, 73 wmife afsidfiescas
AT Tomiate wfoaws 27|

(B) #lredle =@, T Smif 2fsraaicecad
AT Tombe wloaw 27|

(C) e Al wfoaw 7y «1l, g wwmif
AfScaNereaa RS Sotmia eream 23|

(D) #ed =W, T4 Smif Afsiaicead
ARWE SAMAG oo =7 |

57. Monetary #%fS SR QI SRR (<17 7A@
(ATHF EH@ER 2R SIaer Mo W@ 3@ 789

(A) Sterilization 2(J =1l

(B) Sterilization (<

(C) A ISl Fier FIFAIT 23
(D) SalifasE Qe 49 (rewl 7
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58. Ifa10% ad-valorem tariff imposed at the initial
free trade equilibrium lowers the world relative price
by more than 10 percent, the domestic relative price
declines and domestic industries contract. This
possibility is known as

(A) Leontief Paradox
(B) Elsberg Paradox
(C) Paradox of thrift
(D) Metzler Paradox

59. Match the following:
List-1
(a) appreciation

List-11
(i) a reduction in the official
value of acurrencyinafixed
exchange rate system
(b) depreciation (ii) an increase in the value of a
currency relative to other
currencies
(c) devaluation (iii) an increase in the official
value of acurrencyinafixed
exchange rate system
(d) revaluation (iv) a decrease in the value of a
currency relative to other
currencies

Codes:
@ ® @© @
(A) Gi)y (@Gv) @) (1)
B) ) av) @ (i)
© @) (@ (dv) (D)
(D) @i aGv) @ @D

60. Based on post World War Il trade patterns in the
US, a capital abundant country, Leontief finds a
Paradox. With x and m respectively showing exports
and imports and K and L meaning capital and labour,
Leontief Paradox is given by

(A) (1% )US :(K%mjus
J
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58. ¥ eifeey SRPNGHT 897 10% B Ffefes
W (7 T T, S0 AR I67 10%-93
@R Ja M7, Sreredd SieERs SEm g AR wiE
g e Ehe 23, o @it = =

(A) Leontief Paradox
(B) Elsberg Paradox
(C) Paradox of thrift
(D) Metzler Paradox

59. ® <P ¢
List-1 List-11
(a) appreciation (i) Y@IF AT e A, I
&t 7% f27

(b) depreciation (ii) S YA HACACTE (FIC
T T
(c) devaluation (iii) J¥R FFSIE 0@, T4
ISIEEREGRESE
(iv) SFUIY @R ACATE A
RERRGIEGE

(d) revaluation

9 (Codes):
@ (b)) @© (@
(A) Gy (@v) (i) (1)
B) () Gv) () (i)
© ai) @ 34v) (D)
D) @Gi) @Gv) @) (31D

60. I m @ JeAiga (US), feor Rugm
AT AT 4 Leontief G0 21T o7
FE | M x @R m TANGFE AW @R SImIfE Fo w6,
KGR LYET4 S & (AR O1R(T Leontief Paradox 2052

w (1) (1)
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61. Factor-price equalization theorem states that

(A) restricted trade that does not equalize
commodity prices between countries
sharing the same technology must equate
wages and rents in the home country with
that in the foreign country.

(B) managed trade that does not equalize
commodity prices between countries
sharing the same technology, but must
equate wages and rents in the home country
with that in the foreign country.

(C) freetrade thatequalizes commodity prices
between countries sharing the same
technology must equate wages and rent in
the home country with that in the foreign
country.

(D) managed trade that does not equalize
commodity prices between countries
sharing the same technology and also does
not equate wages and rent in both, home
and foreign, countries.

62. When relatively asymmetric sized countries
engage in trade internationally among them, then all
the gains from trade accrue to

(A) the country that is large in international
trade.

(B) the country that is small in international
trade.

(C) both the countries depending on the
comparative advantage.

(D) a third country.

63. An antidumping duty, i.e., a tax imposed by an
importing country, is intended to

(A) enhance the margin of dumping and lower
the domestic price.

(B) offset the margin of dumping and raise the
domestic price to where it would fall if the
foreign supplier charged a price that
reflected true costs.

(C) raises the cost of the imported goods by
increasing transportation cost.

(D) lower trade barrier, tariff as well as non-
tariff.

61. Factor Price Equalization Theorem STl
(A) S <iferen 3, @8 23 fe R G
(MO S TR AN A e I, (e
@R R0 TgE @R Sl A 2 |
(B) frfee ifdey afr 92 exfe st uib
(TR S0 IR MIC 370 A1 ST, (et
@3 e Aieel @3R TG 3T 27 |
(C) T& ey I, @8 Y& JIRFH 90
(TR S0 TCR WG TS| NG OIRGeT (el
@3 RIee! el @3 TG T 207 |
(D) fTafee Fifies afr, @2 25 azma qb
(TR S TR WG 0] 1 S O1RCe
I RUE NS I R U E R S D DTS
oIl

62. U QERETFSIE SPTE (ife Ot e
A fFe i, wea Aifdey (A A oo

(A) G2 (e T (T SIS A0Sy 08! @ |

(B) T2 (¥ 21 (T IS o< f0ey (=IC6! ¢ |

(C) G ETeTe 2q @ (el gereers R
(comparative advantage) ©+9 3 I

Ifzdffees e =21
(D) @2 (e =W ([ 93f6 gor o |

63. SIS TR o=, @ 79 930 STmifFs @
IR I, O AGIHTSICE
(A) Tifi-93 =% =1 e 3 € R wI
N FE
(B) Tifik-a3 ST SI€7 131 (2 '@ (MR WS
I 03 T2 o1, @I Rl saaaizidt
G5 G TN 490 A g 1 Aforire
A @b T A |
(C) ~ifs=zel ¥ A Siwifdge i s
I T |
(D) Jfdey i, @ € S-uF 3 I |
[ Please Turn Over ]
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64. Pick out the correct answer.
(A) Monetary policy is highly effective with

perfect capital mobility and flexible
exchange rate.

(B) Monetary policy is highly effective with
perfect capital mobility and fixed exchange
rate.

(C) Monetary policy is highly effective with
fixed exchange rate.

(D) Monetary policy is highly ineffective with
perfect capital mobility and flexible
exchange rate.

65. Which of the following cannot be defined as a
stock of money?

(A) M1=C+DD + OD (Currency + Demand
Deposits + Other deposits)

(B) M2 = M1 + Deposits with post office
savings bank account

(C) M3 =M1 + M2 + Net time deposits with
the commercial banks

(D) M4=M3+Total deposits with post offices

66. Which of the following cannot be identified as
quantitative monetary policy tools?

(A) CRR and SLR
(B) Repo rate and Reverse Repo Rate

(C) Margin Requirement and Rationing of
Credit

(D) SLR and Bank Rate

67. Consider the liquid assets and identify from
below the correct ascending order based on liquidity:

(a) Demand deposits in banks
(b) Fixed deposits in banks
(c) Saving deposits in banks
(d) Currency

(A) (@)= (b) - (c)—(d)
B) (b)=(c)—(a) - (d)
(©) (b)—(d)-(a)-(c)
D) (d) - (@) - (b) - (c)
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64. 5% Teafs ez e |

(A) SNfFIS TR @I 22 T U
sfof sifsHeTel AtE 93 R e TR = |

(B) Nifefaifs w22 (@1 I 20 94 T4
sief sifRieTe! A @k e 2w a2

(C) wNifefe Tifs awz @ Fifaa g aew f[fasm
RERPERIGE

(D) =i Fifs FIFa =7 a1, W Jeam el
sifoRiet 2 @k i 219 T =3 |

65. fasferie @More Tgw =1L (stock of money)

2310 FIceiize wat AR 12

(A) M1=C+DD + OD (Currency + Demand
Deposits + Other deposits)

(B) M2=M1 + (2% I3 G ST iE SIS rs
Tl ST

(C) M3 =M1 + M2 + 3fafess anez &6 i
TS

(D) M4 = M3 + (5% I Sl (W15 ST

66. fsfie @Rl wifde Mfon Somse fere
fofere <1 T At e
(A) CRR 9= SLR
(B) Repo rate €<% Reverse Repo Rate

(C) Margin Requirement €<% Rationing of
Credit

(D) SLR @<® Bank Rate

67. NGRS Fom gy Aermefe] RTapel e @
Fom s e SREPIE e ¢

(a) ICE Bifzwl SIS (demand deposit)

(b) IIF GIIW =TS (fixed deposit)

(c) IITE ALY IS (saving deposit)

(d) &t
(A) (@)= (b)-(c)-(d)

(B) (b)—(c)—(a)—(d)

(C) (b)-(d)-(a)-(c)
(D) (d)-(a)-(b)-(c)



68. Formula for money multiplier is

(A) %? (where R = Cash Reserve Ratio)

(B) % (where r = rate of interest)
© Y%  ®R-r>0)

® Vi,

69. Whatis meant by Hot Money, often found in the
news?

(A) The term is used for fresh currency notes
issued by RBI.

(B) Itisthe fund which is thrown in the market
to create imbalance in the stock market.

(C) Itis the fund which flows in the market to
take advantage of high interest rates.

(D) Itreferstoactual currency (bills and coins)
money immediately available and paid at
the time of purchase.

70.

Assertion (S) : Progressive tax structures often takes
the form of regressive taxes in
developing countries because the
lower and middle-income groups pay
a proportionally higher percentage of
their incomes in taxes as compared to
upper-income groups.

Reasons (R;) : This is because the poor are often
taxed at the source of their income or
expenditure.

(R,) : The poor also have the ability to avoid
paying taxes without fear of
government reprisal.

(A) (S)is true, but (R;) and (R,) are false
(B) (S)is true, (R)) is true and (R,) is false
(@) (S), (R) and (R,) are false

(D) (S), (R)) and (R,) are true
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68. Wl eI @M (M ?

(A) %Q @A R = Cash Reserve Ratio

(B) % @A r = rate of interest
© Yo , R-r>0)

® Ve,

69. FRIMATG &AlT*Z @ ‘Hot Money’-J &)l siieq!
7 o 5L F e

(A) @2 =¥, FeS " T3 wify Toa Haifo
T4l @RS I3ZS = |

(B) <5l (2 ©2f34 T (<11 AT SR
AR AR G AN WERY 23 |

(C) @bt (13 w2f[e 3, T o FEA Rl
SIS S AR 2T |

(D) <l (12 2P Y@ (I9NE IR AeA)-(F
QIR T SR oo QTF IR T
ARG T2 27 |

70.
Assertion (S) : ST (T progressive I FIIICI
A1 regressive F9-93 Tl &2 I
7 A @3 TRIE SNER @ T
B[] (STICPMI \peTe¥ WWIQ‘JQ\‘S](SI
SR Sl GG 08! ©lY 9 REIE
aviq |
Reasons (R,) : @3 I (&% (FICHA! 2=i23 Oiwa I
Il T SO TAT T 2 I |
(R,) : I aferiicas @ (oiFg = F
V(l?lkr CSTICIA <P O[T WQﬁW |

(A) (S) o, e (R)) 9% (R,)
(B) (S) M3, (R,) 7P G (R,) Be
(©) (S), (R)) @R (R,) T

(D) (S), (R)) 9=k (R,) 7
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71. Which of the following statements is true about
Goods & Services Tax (GST)?

(A) GST subsumes erstwhile indirect state
taxeslike VAT, octroi, luxury tax, purchase
tax only.

(B) GST subsumes erstwhile indirect central
taxes like customs duty, central excise
duty and service tax only.

(C) GST subsumes all erstwhile indirect state
and central taxes as mentioned above.

(D) There are two types of GST in India.

72. Consider the following statements and choose
the correct answer:

(1) Gender budgeting means gender analysis
of the budget.

(i1) Preparing a separate budget for women.

(A) Only (i) is correct

(B) Only (ii) is correct

(C) Both (i) and (ii) are correct
(D) Both (i) and (ii) are not correct

73. The optimum tariff is the tariff that
(A) maximises earnings from tariff.
(B) minimizes imports.
(C) maximizes a country’s foreign trade.
(D) maximizes a country’s welfare.

74. The concentration effect as explained in
Peacock-Wiseman hypothesis refers to one of the
following:

(A) Increase in absolute level of public
expenditure.

(B) Public expenditure increases the necessity
of increased revenue.

(C) Central government’s economic activities
grow atafasterrate than that of subnational
governments.

(D) Public expenditure fails to increase in
smooth and continuous manner.
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71. ¥ @ 2IfRE@A 79 (GST) =i fwfarfs @iw
Tfel A2

(A) SLIE 3o ATGy ST T, @ T
e ¥4 (VAT), octroi, [Rerwy 54,
T 9 GST-F 98T E |

(B) @ sjFod (P AT I, @
wF, @@y w6 9w e JAfEd I
GST-3 989G |

(C) THARTE 71 (FUIT € A AT Faafe
GST-3 SeYE |

(D) SIae F4A=a GST Sz |

72. N code 1 7217 T AT 7637 (o) B
P 8
(i) Gender budgeting-43 51 z& forst faearaet |

(i) SIfRENE &= 2j24F ST Cofd T4 |

(A) weig (i) Ao
(B) wll (ii) Ao
(©) (i) €= (i) AT
(D) (i) 9% (ii) 7APF 77

73. FI wF T G2 wF ql
(A) ©&F (A I F4S T |
(B) SIsmifecss Aty |
(C) 936 meea @A Jifder A<ife s |
(D) @ (e*F TweeTial A4S |

74. Peacock-Wiseman-43 SeaiFell SIS (Fegreds
2[S9 (concentration effect) B & GFH }lTB\‘J
IEI?

(A) SR LT 53 WA I A |

(B) @Ifa 275 3fHe s Aol 3w
AN

(C) ERTTRAET Lo (Faes ereifes

AIFIEYRA (subnational governments)
waﬁaﬁsf—ﬂﬁwmmmﬁmqﬁm|

(D) SFSIfF 46 30yel @3k efbemel@ Iwale
(S ST 2 |




75. In the IPAT expression propounded by
Prof. Ehrlich

(A) I = Impact, P = Population,
A = Asset, T = Technology
(B) I = Investment, P = Price,
A = Asset, T = Technology
(C) I = Impact, P = Population,
A = Affluence, T = Technology

(D) I = Impact, P = Population,
A = Asset, T = Trade

76. Which of the following is not related to the
Travel Cost method?

(A) Zonal Approach

(B) Utility Approach

(C) Random Utility Approach
(D) Individual Approach

77. According to Economic Survey 2021-22, India’s
total exports and imports are expected to grow by
per cent and per cent in 2021-22,
respectively.

(A) 10-5,252

(B) 165,294

(C) 154,205

(D) 20-3,302

78. Aregulator would like to limit pollution. This is
one firm in the market. The total costs of pollution
abatement are given by

C =200 + Q?
where Q is the level of abatement. Total benefits
from pollution abatement are given by

B=1000 - 0~
The optimal level of abatement is
(A) 20
(B) 40
(C) 60
(D) 80
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75. Prof. Ehrlich &%iT® IPAT

(A) 1= Impact, P = Population,
A = Asset, T = Technology

(B) I = Investment, P = Price,
A = Asset, T = Technology

(C) I = Impact, P = Population,
A = Affluence, T = Technology

(D) I = Impact, P = Population,
A = Asset, T = Trade

76. fsfes @ Travel Cost 24 703t TifFe
“3?
(A) Zonal Approach
(B) Utility Approach
(C) Random Utility Approach
(D) Individual Approach

77. wi<t=ifes AT (Economic Survey) 2021-22
SR, 2021-2022 (5 SIS @b A @3 sismifes
I 203 TG GER WOl |

(A) 105,252
(B) 165,294
(C) 154,205
(D) 20-3,30-2

78. e @ wAfRl Rl foge Fe i, ISl
5 g T qcz | (6 el fage 59 20

C=200+Q°

@A Q 21 79l FIeTR wAfe |

w3 g S GG AR A
B=1000 - 0

GTORZIF, FI T3 ZICT wAfiel 2002

(A) 20

(B) 40

(C) 60

(D) 80
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79. The least-cost method of abating green house
gases internationally is through

(A) limiting emissions to 1990 levels.

(B) stabilizing average temperatures at 1990
levels.

(C) tradable emission permits.

(D) data are lacking to choose among these
three alternatives.

80. SDG ‘Life Below Water’ aims at conserving
and sustainably using

(A) Groundwater resources

(B) Wetland ecosystem

(C) Oceans, seas and marine resources
(D) Marshland resources

81. If the social cost of extracting coal is greater
than private cost, then

(A) negative externality exists.
(B) positive externality exists.
(C) more coal should be extracted.

(D) price would be less than private cost.

82. In case of an environmental asset which of the
following is correct?

(A) Option value = use value of an individual
+ Bequest value + Vicarious value

(B) Option value=Option price + E(CS) [when
E(CS) = Expected value of Consumer
surplus]

(C) Option value = Bequest value + Vicarious
value

(D) Option value =Bequest value + Vicarious
value + Existence value

83. GRR of a popular will be equal of NRR if
(A) population growth is zero.
(B) there is no mortality.
(C) population is closed to migration.

(D) population is at replacement level.
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79. Treann, o 2T o 291 419 AT I 93!
202
(A) @9, 1990-93 BF Ffre 41 |
(B) 1% isis@l 1990-97 W BfeAlet Fi4l |
(C) Rfsmcatsly yae fsfm #f |
(D) foaft RFEe @ @ 9 53w F919 0%
o2 2 |

80. TR @A ATT G3R AL T2 At
SDG ‘Life Below Water’ -4 Sy ?

(A) TG ST~

(B) eTigf TrEeg

(C) STRPTISI, 7Y <R AGS 720
(D) GeTef =rw

81. ¥ TN s AfE 436, Wiests 4w
CERIENCITIERASED]
(A) A ey el AT |
(B) &S qifEy 2feld AT |
(C) wa! e Fxa =i <1 Tfow |
(D) W, A& LA TR I (A |

82. “AfH@IeIe T (g WERIRS (@G ABF?
(A) 77 Wi = fes ez T + ©2e W

+ 7% W
(B) 7® w9 = 75 wN + E(CS) [E(CS)
= TolTeIed Tred A i)

(C) =% S = T2 T + 9B T
(D) T<=ps ¥ = 2T 34 + 1B Wi + SIf¥g e

83. TR GRR, NRR-IF 73« & I3
(A) &R i =7 |
(B) SEeiieTe! (3 |
(C) TR WS 9% F41 SZ |
(D) GePRey Afegloie »RiE iz |



84. Which of the following methods of population
projection require age-specific fertility rate?
(A) Gompertz method
(B) Component method
(C) Exponential population growth method
(D) Balancing equation method

85. Optimal level of pollution occurs at a point
when

(A) Marginal net private benefit = Marginal
external cost

(B) Net private benefit = External cost

(C) Marginal net private benefit = External
cost

(D) Price = Marginal external cost

Pick out the incorrect answer:
86. Market failure does not occur

(A) when there exists well defined property
right.

(B) when there does not exist any type of
externality.

(C) when the exclusion principle operates in
the market.

(D) when there exists asymmetric information
in the market.

87. One of the goals of national population policy
2020, was to bring down the infant mortality rate as
below:

(A) 15 per thousand live birth
(B) 20 per thousand live birth
(C) 25 per thousand live birth
(D) 30 per thousand live birth

88. Identify the correct statement about the
relationship between Total Fertility Rate and Gross
Reproduction Rate.

(A) TFR < GRR
(B) TFR = GRR
(C) TFR > GRR
(D) TFR <GRR
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84. TR SfSTHEA (@ Awfed g, IIfeies
TR QT T A 2
(A) Gompertz method

(B) Component method
(C) Exponential population growth method
(D) Balancing equation method

85. MR S W (12 [ee = @A
(A) ifeT 16 Hiere R = 2lifes Afers <=6
(B) % wrfeare Afaxl = Aifare 45
(C) Hifes a5 Ffears ARl = e 43
(D) wi¥ = aifes AIfEs 2=H

oT OGH/b e faa S

86. Jreiw e =7 A1l
(A) T Ifex Sz el wEe A |
(B) T (I €14 S 2SI A 1|
(C) T4 G TGS Teamiet A |
(D) T S S SANEGATS! AN |

87. TR Gyl S 2020-97 @5 o7y foet i
TR TR e we s s

(A) 2fs ger SifTe sew 15
(B) 2fs e &ifss wew 20
(C) fs T & &ew 25
(D) &fs & Gife & 30

88. Total Fertility Rate €<% Gross Reproduction
Rate F=I(F A5 St @z fe |
(A) TFR < GRR
(B) TFR = GRR
(C) TFR > GRR
(D) TFR <GRR
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89. Whichindustry group has the highest outstanding
amount in non-small scale sector in India?

(A) Textile industry

(B) Engineering industry
(C) Sugar industry

(D) Iron industry

90. ‘Sagarmala’ is a name associated with
(A) adrilling vessel
(B) a project of port development
(C) oil well in Indian Ocean

(D) an Indian navy ship

91. NABARD was
recommendation of

(A) Public Accounts Committee

established on the

(B) Shivaraman Committee
(C) Narsimham Committee
(D) Chelliah Committee

92. The type of planning, where the central planning
authority decides upon every aspect of the economy
and the targets set and the processes delineated to
achieve them are to be strictly followed, is called:

(A) Indicative Planning
(B) Perspective Planning
(C) Imperative Planning
(D) Rolling Plan

93. Which authority recommends the principles
governing the grants in-aid of the revenues of the states
out of the consolidated fund of India?

(A) Finance Ministry

(B) Public Accounts Committee
(C) Finance Commission

(D) Inter-State Council
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89. wrpw fRisTCarca feerie s arstafer st miafba
Yol IR @ 2

(A) @ s
(B) JIfHeiE &
(C) fofel T
(D) Tz

90. SR W RS @@t 7 I 2
(A) @5 Tyl wizre
(B) IVH T 25
(C) SIS TR (SeTF
(D) SIISR (TRIRAF G0 Tige

91. fawfeie @Rl ganfaes NABARD #fsfre
] 7?
(A) Public Accounts Committee
(B) Shivaraman Committee
(C) Narsimham Committee
(D) Chelliah Committee

92. @ A=A AR, FER AREFEA FGoAT
wefifen 2fsfb (Fq R Si7 FTwRIs 9 Prare @7y,
ol S7e TR ormfouls ada I @R Fef FTeiE
BePT 2, OICF qCeT ¢

(A) 2froops ARl
(B) iR sifssm
(C) S@PHT “ARal
(D) Rolling #Ifx=w1

93, Msiffe Taaifs e (A TEslE aEE
RS SIS e fHfEe @i Feor g s 2
(A) SLFF

(B) Public Accounts Committee

(C) Finance Commission
(D) =mssden Council
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94. Which of the following is NOT correct with
regard to features of National Rural Employment
Guarantee Bill, 2004?

(A) State govts. to provide at least 100 days of
guaranteed wage employment every year
to every household who volunteer to do
manual (unskilled) work.

(B) SGSY and PMGSY to be subsumed within
the scheme.

(C) An applicant not provided employment
within fifteen days, to be entitled to a daily
unemployment allowance.

(D) For every block, State governments to
appoint a programme officer for
implementing the scheme.

95. Consider the following statements about the
idea of ‘inclusive growth’:

(i) The idea of ‘inclusive growth’ entered
into the domain of planning with the
Eleventh Plan.

(i) This is not only about economics but also
about ‘social’ inclusion.

(iii)) The main idea behind ‘inclusive growth’
is to include SCs, STs, OBCs, minorites
and women in the country’s development
process.

(iv) The 3rd Generation of Economic Reforms
runs parallel to theidea of inclusive growth.

Select the correct statements using the code
given below:

(A) (@), (ii) and (iii)

(B) (i), (iii) and (iv)

(©) (1), (iii) and (iv)

(D) (), (ii), (iii) and (iv)

96. India has been ranked at the position in
the 2020 edition of the World Bank’s Human Capital
Index that bench marks key components of human
capital across countries.

(A) 36th
(B) 47th
(C) 87th
(D) 116th

07-11

94, fsfeTiRie @I Trei e FHRE fomsme fe

(NREG Bill), 2004-49 STg5fe =32

(A) @ 3ITre afeseiE FifT A= (o)
AT @ AN T, ST AT Ol
A =S 100 eeia Miee sgfa vl Fier
(|

(B) SGSY ¥ PMGSY ¢ 253 S¥$& 274 |

(C) 15 P13 Ttz 1%t =1 e =i (rfelss (I3
ool e 2@ |

(D) ST ATFIAE FIETo FoATe 19 &y 2fofo
CF GFG (A (2N ST e Face
2|

95, TR a3 wHcE il Ieef
ot T ¢

(i) 9! AT 2L TS eTers 2igfe -7
gzl 2<% =3 |

(i) «@fb @FEmIgoLferan, ANTToeeie
NS A |

(i) 967 1 Swely 281 (e TGS Swfere
SC, ST, OBC, *R1&Y ¢ TRAE STeeE
SN

(iv) SNLATEF AR PO AT A TG &
o 23 AMGIETSIE B |

NFETRIS code 7217 ¥ WW@@:

(A) (1), (1) @R (ii1)

B) (i), (1ii) @R (iv)

(©) (1), (1i1) @R (iv)

D) (1), (i1), (i) @R (iv)

96. fPeIcE= IR 316< (HDI), [ e resia
TP 7 f5® B, SR 2020 A SRCOF Ze 24
(A) 36-9%
(B) 47-©%
(C) 87-©w
(D) 116-5%
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97. Based on the advance estimates of the National
Income by the National Statistical Organisation (NSO),
the Indian economy is estimated to grow at in
2021-22.

(A) 7-3%
(B) 92%
(C) 85%
(D) 9-0%

98. Which of the following is not the objective of
the monetary policy of the RBI?

(A) To boost economic development.

(B) To control inflationary pressure.

(C) To ensure social justice.

(D) To bring about exchange rate stability.

99. In Koyck method,
Bk= B()}\‘k, k=0, 1, LandO< A< 1, (1—}\,)
is known as
(A) the rate of decay of the distributed lags.
(B) the rate of decline of the distributed lags.
(C) the speed of adjustment of the distributed

lags.

(D) the estimate of the distributed lags.

100. The rank condition of identification states that
in a model containing M equations in M endogenous
variables, and K predetermined variables, an equation
is identified if and only if at least one non-zero
determinant of the following order can be constructed
from the coefficients of the variables excluded from
that particular equation but included in other equations
of the model:

(A) MxK

(B) (M-1) (K- 1)
© M-DHM-1)
(D) (K—1) (K- 1)
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97. National Statistical Organisation (NSO) =<l
GO SIS (@ advance estimates Sl SI&fqIfe &=
9 2R, (I SR, @2 Sidifen 2021-22 A I
ST A

(A) 73% QE
(B) 9-2% =t
(C) 8:5% 2T
(D) 9-0% ¥«

98. ffeResle Wy @G RBI-ag wnfds difes

P

TEGG 7 ?
(A) St Taae Jia 41|
(B) i@ Bivt el <= |
(C) ANITE = Bivia 41 |
(D) Rfesm 2z BfoNee wivge |

99. Koyck “&fers,
Bi=PBo A k=0,1,... @ 0<A<1,(1-2) @
A
(A) Distributed lags-99 SR 24 |
(B) Distributed lags-4< 1< A |
(C) Distributed lags-43 59T A 9IS |
(D) Distributed lags-4< estimate |

100. *FEFACR TF *I0S Io1 TR @ 9FH model-4
Tt M RS TNFA M- endogenous 551F AF @R
KR4 si3fifere 5o 21, @30 w20 #4916 1 28
T e Fwiba oree greres « s =7 fecacs Fdws
W e HIEE 125! (ACF Cofd 1 I | 8 WOER
SR AN TGS F! T

(A) MxK

(B) M-1)(K-1)
©) M-1)(M-1)
D) K-1)(K-1)
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